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MINISTÈRE DES ARMÉES 
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𝐺(𝑥) = [1 − (1 +
𝜉(𝑥−𝑢)

𝜎𝑢
)

−1/𝜉

] 𝜉

𝜉 𝜎
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 ( ) 

𝑙(𝜇(𝑡), 𝜎(𝑡), 𝜉; 𝑥1, . . . , 𝑥𝑛)

= − ln 𝜎(𝑡𝑖) − (1 𝜉 + 1⁄ ) ∑ [1 +
𝜉

𝜎(𝑡𝑖)
(𝑥𝑖 − 𝑢)]

𝑥𝑖>𝑢

𝑛

𝑖=1

− 𝑛𝑦 (1 +
𝜉

𝜎(𝑡𝑖)
(𝑢 − 𝜇(𝑡𝑖)))

−1 𝜉⁄



𝜇 , 𝜎 𝜉

𝜇 , 𝜎 𝜉
 

𝐻𝑠𝑚(𝑡) = 𝜇(𝑡) −
𝜎(𝑡)

𝜉
[1 − [− log(1 − 𝑞)]𝜉] 𝜉(𝑡) ≠ 0

𝐻𝑠𝑚(𝑡)

µ σ

𝑓(𝑥) = 𝑎0 + ∑ 𝑎𝑛 ∙ cos (𝑛𝑥
2𝜋

𝑇
) + 𝑏𝑛 ∙ sin (𝑛𝑥

2𝜋

𝑇
)

∞

𝑛=1

ξ, µ, σ

𝜉 = 𝜉0

𝜇(𝑡) = 𝜇0 + 𝜇1 ∙  cos(2𝜋𝑡) + 𝜇2 ∙ sin(2𝜋𝑡) 

𝜎(𝑡) = 𝜎0 + 𝜎1 ∙  cos(2𝜋𝑡) + 𝜎2 ∙ sin(2𝜋𝑡)  

ξ σ µ(t)

𝜉 𝜎(𝑢, 𝑡)  

𝜖𝑡 =  [1 𝜉⁄ ] ln{1 +  𝜉 [𝑌𝑡 𝜎(𝑢, 𝑡)⁄ ]}

𝜖𝑡



  

  

 

𝜉 = 0.024

𝜇(𝑡) = 4.499 + 1.799 ∙  cos(2𝜋𝑡) + 0.565 ∙ sin(2𝜋𝑡) 

𝜎(𝑡) = 0.632 + 0.425 ∙  cos(2𝜋𝑡) + 0.147 ∙ sin(2𝜋𝑡)
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https://www.aanderaa.com/media/pdfs/td316-manual-motus-5729.pdf
https://datawell.nl/wp-content/uploads/2022/09/datawell_manual_dwr-mk3_dwr-g_wr-sg.pdf
https://datawell.nl/wp-content/uploads/2022/09/datawell_manual_dwr-mk3_dwr-g_wr-sg.pdf
http://www.cgd.ucar.edu/cas/jhurrell/naobook.html
http://www.cgd.ucar.edu/cas/jhurrell/naobook.html
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𝐸(𝑋 − 𝑢| 𝑋 > 𝑢) =
𝜎(𝑢)

1 − 𝜉
=  

𝜎(𝑢0 +  𝜉𝑢)

1 − 𝜉

 
 

 

 



   


